St. Mary’s School, Dwarka
Holiday Homework
Std. VIII
Week 3
Worksheet 3

Subject: English
Q1. Read the following passage. (1x5=5)

An owl is a bird. There are two basic types of owls: typical owls and barn owls. Owls live in almost
every country of the world. Owls are mostly nocturnal, meaning they are awake at night. Owls are
predators—they hunt the food that they eat. Owls hunt for mice and other small mammals, insects and
even fish. Owls are well adapted for hunting. Their soft, fluffy feathers make their flight nearly silent.
They have very good hearing which helps them to hunt well in the darkness. The sharp hooked beaks
and claws of the owl make it very easy to tear apart their prey quickly, although owls also eat some prey
whole.

Owl’s eyes are unusual. Like most predators, both the eyes of the owl face front. The owl cannot move
its eyes. Owls are far—sighted, which means they can see very well far away but they cannot see close
very well at all. Fortunately, their distant vision is what they use for hunting and they can see far away
even in low light. Owls have facial disks around their eyes and tufts of feathers in a circle around each
eye. These facial disks are thought to help the Owl’s hearing. Owls can turn their heads 180 degrees.
This makes it look like they might be able to turn their heads all the way around, but 180 degrees is all
the owl needs to see what is going on all around it. Perhaps because of the Owl’s mysterious appearance,
especially its round eyes and flexible neck, there are a lot of myths and superstitions about owls. Many
cultures believe that owls are unusually wise. Because owls are nocturnal, some cultures associate owls
with bad omens. The screech of the barn owl is considered by many to sound eerily human, like a person
screaming. However, owls probably do not interact with the fates of humans at all. In fact, some owl
species may become extinct because of humans.

1.1 Based on your understanding of the passage, attempt the questions given below.

i. Owils are called predators because they
ii. Owils cannot see things closer to them clearly because they

a) are unusually wise

b) can rotate their necks
¢) have tufts of feathers
d) are far-sighted

iili. Why are owls associated with myths and superstitions? Do you think these beliefs are justified?
iv. Which of the following statements is NOT TRUE?
Owls

a) eat small animals

b) fly silently

c) cannot see in low light
d) have a poor vision
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v. Replace the underlined word with its antonym from the text.
We were woken by a piercing shriek from outside.
Answer questions 2 to 4 in 20-40 words.

Q2. Do you think the Dad’s Barmy Army fulfilled its purpose of keeping the British people safe?
Justify your answer with the help of two examples. 2

Q3. “Goody for Our Side and Your Side Too’ encourages us to be understanding and inclusive. Justify
the statement. @)

Q4. “And one voice, with sublime disregard for the situation, read poetry aloud in the fiery study, until
all the film spool burned...”

What happened to the mechanical house, at ten o’clock? (2
Answer question 5 in 60-80 words.
Q5. How did the immaculate, resilient house try to save itself from the fire? 3)

Q6. Find about a groundbreaking technology or innovation in the field of Education/ Space
Exploration/ Agriculture/ Medicine. Collect information and pictures to emphasize the following and
make a collage on an A3 sheet. 5)

= jts creation and creator,

" purpose,

= resources needed,

= current use in the field,

= alternatives or upcoming innovation (if any),

= problems or threats to the nature or society, that should be kept in mind.

Roll no 1 to 10 — Education

Roll no 11 to 20 — Space Exploration
Roll no 21 to 30 — Agriculture

Roll no 31 and onwards — Medicine

Q7. Complete the given sentence, by filling in the blank with the correct option: (2)
i.  Aarti jumped off the bus while it . (already started, had already started, would
already start). She got a terrible wound.
ii.  Look, the sun over the hills. (rises, is rise, is rising)
Q8. Complete the given sentence, by filling in the blank with the correct option: (2)
iii.  Carol wanted to drive to Goa, Bill insisted that they fly. (and, or, but)
iv.  Tania likes to read , her sister Julia prefers to watch TV. (however, in contrast,
again)
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Q9. You are Srinivas/ Srinidhi, the Cultural Leader of D.P.S Public School, Nagpur. Draft a notice
informing the students of classes VI-XII that the school is planning to print its annual magazine. Students
can submit entries like articles/ sketches /riddles at the reception area by 22" May, 2023. Give all
necessary information. 3

Q10. You are Suresh/Suman of F-64, Mayur Vihar, Delhi. Your friend from Kolkata has invited you
to visit him/ her after your mid-term examinations are over. Write a letter to her/him expressing your
inability to reach there. 4)
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Subject: Hindi

ueet 1 fAssifafta smufda scamer o ygor sad smr w waifde 3ugad I ael
fawoa goor fafke — (1x5=5)

Stiqel @1 AT 981 Belldle 3T ATH Ahel @fad a8 € 5l 3ugad Jolld  Hrell Sleldl
2 |gelld ®vel A dfd® off aeT-Td & 98 dl 3RAWetanl udel 3 sifd =fdfeaa & o
TeIld EHAIR 2 A odl & ol Ad-fdar ®l, Q-®mlel ®I, Slodl-dce &I, fdbg B ol
IR, 31Ual a2l & ¢, foldl uv TRl dAweidl 30 3weldl fdsfz & |5t ®Ie ®deal a1 o
®rel B A 3T 37 ufterer @I e 3w 3resl-get =eifa o1 geia | 3redl-g7l <erfa
@I golld ol AAwd Jelldl A A SeIGl Asceayyl € Jeiifd $¥ Tolld T & ARl 3Tda=ol
, GIARI ®dl, GHAR fadr, ARl BSlcil, TARI A DI TdT, SRl HeIRIdl Bl v 3%
ARl ABCIdl-3ABdI3N ® A folefz € |storr @1 fdaa gesed 3w g@ ellenl ot
30T Sicdl 3MdfSd glar & aeife o yer uel #ca faar ©f 3w & dsft - asar
uft®Isl ®2ell USdl 8, Hdls ®I deh TUgel I BHEC 3olell Usdl & swfcle ge 3w gt et
TRl Ecoll¥ , 300 dIaRI GHRI &IId 3dNd dd & Uz Jdl gar fade 3w sar! gafer ot
udledl 2 | 3/eB-g2 ®I AT Jolld & SR e oI faafor & |

1 JWRad Jolld dal dicll <Ifdd dell dEclldl & !

(®) wwer wafda

(@) srawe wfaea

ary et wr

(&) seredt =fda

2 3ufad ICATRA A AJRI B el Bl dolell fdwaa @ 918 &7
(@) ster &

(@) erer &

(a7) awy @

(&) oot &

3 Aq @ P &I folator fow ue fAefe owar & 7
(w) 3fda asqg @ geia ux |
(za) sfdia crawr & gera ux |
(a1) gA-3rl weld@ & gorra uw |
(a1) 3feia zerrel & elld U |

4 AGRI oI falea dA el @t 307 sledl Mbia slar & 7
() 38 a weEEIER clel @ 3%
(e1) ufewrott st emeafatmar @t 3

(&) gEadl @1 HASd dellel diet @t 30
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5 ‘uftee e @1 31ef oo & 7
() oz
(Ra) sireTe=I
(e7) wafer
(ar) fadw
ued 2 fsefcifaa & =&t ol ‘udler ere @1 w1l aof- faese &7 1
1 g3t tStatutan
2 qtsrtztatstototsn
3 gtzt3tatstamtotan
3 gtz tartagtstmtertan
ued 3 ufdad 14 Ridaw & oI R sidar & ! 1
1 Al ud
2 fedl faaw
3 dAedlz orIc
4 11 faaw
ueel 4 fideilcifa 3 & @le—ar e * 7 ' suwef & ordl qon 27 1
1 el
2 7IRIT
3 ZGTel
4 [
Ugel 5 8161 ® el & &T & !
1 difae oo , fafRaa e 1
9 faiflaa omer ,wdfde eimer
3 dAlid oI oy ofrer
4 JIq NI , HIfRde efren
ueet 6 anth oft s wrefdar & 7 sv1 araer & ‘onelt sft ’ e @1 B - = Aw &71
1 afaadras
2 SIqdII®
3 sifdaras
4 HAHGRIAIAD
Heel 7 ol @ sl ‘olieid dalell qael civad gal aen fRren der aed & 7 (3x1=3)

H%el 8 #9TdIol Gl A5 §E Weel @l ®id Ug wbdl & 3iv @il ! (38x1=3)
Mo 9 © faquref © o1 A drIeY A 3cUodl o Elol Gl ® fole BRI QGeNce o
®lel-mlel & 3urer foe? (2x1=2)
= fRicgne! @1 o aitaer da ust? (2x1=2)
Heel 10 31ud 2w 3 ofe sifaedlser s (Plant) ¢ee ael @ |sud sare gar 8g eo
e fasmuer dear wifste | (5x1=5)
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Subject: Mathematics

QL. Fill up the following blanks : (05x4=2)
a) A simple closed curve made up of only is called a polygon .
b) The diagonals of a rhombus bisect each other at angle.
c) Polygons that have no portions of their diagonals in their exteriors are called polygon.

d) Minimum possible interior angle in a regular polygon is

Q2. Choose the correct option: (1x2 =2)
1) A quadrilateral which has 2 pairs of equal adjacent sides but unequal opposite sides is called
a :
(a) parallelogram  (b)rhombus (c)kite (d)square
i) How many diagonals does an octagon has?
(@8 (b)20 (c) 16 (d) 27
Q3: Find the measure of an interior angle of a regular polygon of 9 sides. (2)

Q4. A quadrilateral has three acute angles, each measure 80°. What is the measure of the fourth angle?

)
Q5. The opposite angles of a parallelogram are (3x + 5)° and (61 — x)°. Find the measure of four
angles. (2
Q6. In the given figure, ABCD is a parallelogram. Find x, y and z. (3)
ks /R
Q7. In quadrilaterals, 3

(i) which of them have their diagonals bisecting each other?
(if) which of them have their diagonal perpendicular to each other?
(ii1) which of them have equal diagonals?

Q8. A diagonal and a side of a rhombus are of equal length. Find the measure of the angles of the

rhombus. 3
Q9. ABCD is a parallelogram with £A = 80°. The internal bisectors of B and 2C meet each other at
O. Find the measure of the three angles of ABCO. 3

Q10. Activity: Exterior angle property of polygon.

Draw at least three polygons, measure their exterior angles using protractor , find the sum of exterior
angles of each polygon and verify the exterior angle property of polygons . (to be done in practical
file) . 3)
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Subiject: Science

Q1 Name the place and the year when the first oil well was drilled. Q)

Q2. Dhruvi observed that the vacuum pump sticks to the surface of the wall as shown in the picture
given below. What can be the possible reason for this observation? Explain. Q)

e

Q3. Why do you think the use of diesel and petrol as fuels in automobiles is being replaced by
Compressed Natural Gas (CNG) in metropolitan city like Delhi? @)

Q4. Name the process and write the principle involved in the given separation method. 2

Q5. Two teams A and B were made to participate in a game of tug of war and each team had four
members in it as shown in the figure below. One of the teams was able to pull the rope in their direction
and therefore won the game.

(1+2=3)
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(a) Name the force applied to play this game.

(b) Calculate the net force, if the force applied by the members of team A and B were 300 N and 550
N respectively. Which team will win the game?

Q6. What is PCRA? Enlist the tips suggested by PCRA. 3

Q7. Vinod is a farmer in Rajasthan and grows bajra in his field. He is facing water scarcity which is
affecting his crops growth. Suggest one irrigation method which he can use to water his crops. Why?

3)
Q8. Give reasons for the following: (1+1+1+1+1=5)
(a) A plastic scale after being rubbed against dry hair attracts straw.

(b) The pressure exerted on our body due to atmosphere is high but we do not get crushed.
(c) It is easier to burst an inflated balloon with a needle than with a finger.

(d) The wheels of a war tank are covered by broad steel chains.

(e) Mountain climber experience nose bleeding when the altitude changes.

Q9. Coal and petroleum are fossil fuels. It required the dead organisms millions of years to get
converted into these fuels. But the known deposit will last only few years. Moreover, burning of these
fuels is a major cause of air pollution. (2+1+2=5)

(@) Enlist the effects of air pollution on human health.
(b) What are the uses of petrochemicals?
(c) Coal is processed in industry to get some useful products. Name them and write their uses.

Q10. A farmer selected healthy and high yield variety of seeds to be sown in his field manually. Later
only few seeds germinated. List any three reasons behind it. Describe any two methods which can
ensure high crop yield. (3+2=5)
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Subject: Social Science

General Instructions:

The work should be done neatly and in a systematic way.

The given worksheets are to be done in History and Civics notebook.
Mention the number of worksheet while doing the work.

Write questions along with the answers and number them correctly.
Maps/diagrams are to be pasted/drawn in the notebook.

Project work is to done in a scrap file.

VVVVVYY

Q1. Why was it difficult for the Indians to get selected in the administrative service competitive
examination? 1

Q2. Define the given terms:

() Sovereignty (i) Socialism 1
Q3.What do you understand by ‘the Directive Principles of State Policy’ 1
Q4. Mention any two way to conserve land resource 1
Q5. What is federalism? How does it work in India? 2

Q6. “The people of Bengal suffered immensely under the Dual or Double Government.” Explain the
system with special reference to Bengal. 3
Q7. Make a G.O on different types of soils. Write about the soil formed due to weathering of volcanic
rocks? 3
Q8. List any three features of our Constitution which have been adopted from the Constitution of other
countries? 3
Q9. What is soil profile? Explain the various horizons of the soil profile with the help of a well-
labelled diagram. 5
Q10. Project Work 5
e The government collects information about residents of India through its population census.
Officials visit each and every household and collect data about language, religion, migration,
etc.
¢ Find out the information which is to be gathered through the census. How is it different from or
similar to a survey? What materials or instruments do officials use while conducting a survey?

e Pen down the relevant information with appropriate pictures in a scrap book.
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Subject: Sanskrit

ueel 1 3reifcifRra arcgmer ufdcar sgfdscusisy yeest Sara — (1x5=5)
3TEHAID G2l Ulgfdd 2Nel 3icld dsiierl Tdavilen o oiafd | edfwae a¥ greer siran oiafed | ad
R GIcRl AR HIALR US sRAds 3IRIfed | €d PRads wARIGTARYI 3M6Tcdfod | auwRI gIe=l
ATy demvd AT yedl: owanm ofafd | SWARI: udidd wId Siels Uerds UfeivR O =
atafoet | wfem: siemerRm o grafed | wd uifoler: wnmems etafedd | 5iel arflefsr smerer ufa
Jreefd | 31UIe AT 3MRIN WARIRIC, HER Ulgeidied dal 3mercefd aufemrer | auf wel wdas
FER 3BT, 3TcBIcedfod | 96 hsiledr sieia: dIsid dmdfoc],dR- di Udfod | alell Jeats
o 7d otels Sedtefed |

aqui 3icTedi Qe Tolldl3 5d Gd | Q&b R Slelyfzar aidfed | aufmiet daqfce] sifdan
ddid | ISIeTelId, oidlald] al dcy Jufdters g, AR, &l d Slcidls] ddiot | IeTeIdvsel
HENGIH, THE Goedl TR olcafod | AEeIE] AR Sogeloiuwel QNell 3icfla wamwften erafa
| efteres Frac: o ~Aele: uasfa |aden sifeiz wieten wfueneen @@ smafa | Humn A3y eneeren
dionfa qufeer | auf quwone sifdfgen safa | uweg siedl auf sifdwwr safa |

1 31k G2l Ulgfde 2Nell ®igen oafd 7 1
(@) < @wen °
(za) efarch zemfter @
(a1) dreier) weoften o
(&) aeiler? b T
2 uofwdore] a8 ®fd HArErs sidafed? 1
(®) s
(za) sritcer
(a1) uracer
(ar) siser
3 uedl ®ar awr emafa 7 1
(v) wifde s
(za) sufedet amra
(a1) demmea @R
(&) B s
4 Sicld arfleRn o ufd Jreefa’? 1
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5 ‘siereefed sfd uaw er: ciers | e sifa 7 1
() 31 +are enngs clegimre d |
(Ra) 31 +a19Y aIqs cIceTdIe: d |
(a1) 3m +aret &g ciicgTdre: o |
(er) 31 +ar9Y g cioTeTdIEs |
uee] 2 felset gcal GoaucTsl HeRRn Raaeenenfa yea — (42x6 = 3)

oo = sreRnfamr |, afewT |, een , ®en |, Eaed, , foafad | |

g

5 BEIR Uofed ..oveveenee.. A |
6 @1 €Dl ............ 3T 3ifed |
yreel 3 IoRm 3fda vafd apdicar oS qrera — (Y2x6=3)

IBM- =R, el |, aifdiger , smeTes , affeiae e, wdieTens

Adfqecttas
foer faisr gRen fafel: 20.06.2023
[1—
36 @eed [2]—— smenfafa [3]—— <ot fGeedt atorear [4]—— | 3=

[5] wicel -wenelfel wfed | a2 mqadilenres sfvsemEies , Tadge: , FHaTeISesTol
o Afedt | 3mae fAfdtear [6]—— aifsienas | caet 331 s1agerst sieteqd siefofasta | aa
fo=:  <reor: e goens |
aa faser
fastias
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ueel 4 seiififRa wa sromrm faauafa A Reaeearena geeg —
(Yox4=2)

Jeet 5 IAvoRI Yaats 3ftd siernds Raawensnfa grera- (Yax4= 2)

() daswd ------ sifea 7
J1%e1 6 oitod Uacas 3fda wwmn uds Reawemnfa yrea - (Yox4=2)
(1) wfderm wefiy ------ smafor =feet | (16 )
(2) @@ ---—--- qoan safea | ( 32)
3)  --—-- STell: ReTRIelel djds ofeR. aresfod | ( 50 )
(a) emoofGenfiiarme  ------ eraen gmafea | (15)
e 7 Faifda s snmge yed fAsflerarsy — (Vax4= 2)
(1) @re1 ettt U wetenfat wafe |
(2) =t ureer vsfat |
(3) «ifi®r v |
(a) wrber: fads we T
yeal 8 wieree] 3¢ foraa - (Yax4=2)

sl 9 W yaTrell Aolold, oed — (Vax4=2)

(8) e ERT
¥eel 10  3fdauq focar Raoeensnfa grema - (Yax4=2)
oI - 3IdeRId , 3Rild , 318dd, ,310TaHd,
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Subject: Computer Science

I. Define the following:- 2X3=6
1. Statements

2. Comments

3. Looping Statement

I1. Answer the following questions:- 2x3=6

1. Python is a cross platform language. Explain
2. List the rules required to define an identifier.
3. Differentiate between an operand and an operator with an example.

I11. Write the syntax for the following:- 2x4=8
1.if...else Statement

2. if.. .elif.. .else Statement

3. while loop

4. if Statement
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